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DB X| 447 £2] S2| X1 FHEXHAIE HNE-1 S[ELS-THY%]
DB X| 4047 E2] 52| X = FHEXHAIE SHE-1 2 (USD)[ELS-THAY)
DB X| 4-%47{C{ S2| Xt S 5 XHIEE HNS-2 2 [ELS-THA )
DB X| Q72| X} = 5 U EXHAIE SHE-1 T [ELS-THY]

DB X| 4-¢47C{ S2| Xt S 53 XHAIEE HNS-3 L [ELS-THAY)
DB X| 4017 £2| 52| X = 5 EXHAIE SHE-3  (USD)[ELS-T1AY %)
DB X| £ Q72| X2 5 U SXHAIE SHE-2 B [ELS-THY]

DB X| 4-¢47(C{ S2| Xt S 5H XIS HNS-4 T [ELS-THAY)
DB X| 404704 22| Xt 5H S XHIEE HNS-5 B [ELS-TH%]
DB X| 4+ ¢7{[2| X} = 5 U SXHAIEF SHE-3 T [ELS-THAY)
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